Das Einsdurcheins mit 14 iben [1]

Zum grofien Einmaleins

Aufgabe 1

1. 18:14= (O 9 (O 3 O 12 8
2. 84 :14= () 16 13 O n 6
3. 154:14= () 14 o Mn ) 16 9
4. 266 :14= () 19 3 ) 12 () 10
5. 182:14= () 17 o 13 o 8 12
6. 126 :14= () 15 SRR o9 16
728 :14= (O 1 6 O 2 12
Aufgabe 2

119614 = (O 7 O 12 O 14 O 13
2. 266 :14 = () 15 o5 ) 20 19
3. 42:14= O 1 O 3 13 () 20
4. 182:14= () 8 15 O 4 13
5. 98 :14= () 1 O 1 o 1 () 8
6. 238:14= () 13 O 17 O 19 ) 15
756 :14= () 4 1 ) 14 () F
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Das Einsdurcheins mit 14 iben [1] | ANTWORTEN

Zum grofien Einmaleins

Aufgabe 1

1. 168 :14= () 9 O3E08

2. 84 :14= () 16 O 13 O 11
3. 154 :14= () 14 ‘I] ) 16 o9
4. 266 114 = O 3 O 12 () 10

5. 182:14= () 17 @ B o 8 12
6. 126:14= (O 15 SRR ® 9 16
728 :14= () 6 ® ? ) 12
Aufgabe 2

19614 = O 1 O 12 m o 13

0 26:14- O 5 (O 5 () 20
3. 42:14= O 1 SRRE () 20
4. 182:14= () 8 O 15 O 4 @ 3

5. 98 114 = E O 1 O 16 () 8

6. 238:14= () 13 @ O 19 () 15

7. 56 14 = o v |/ Qo 1% O 7
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